NEC

Support Kit Handling Instructions

Model NPO2LK

YR— b+ FEIREREAS Aﬁ
8435 NPO2LK

XIEEHREIRAS
85 NPO2LK




——

CONTENTS

Introduction 3
CAUTION 4
Things to prepare 4
Included items 5
Preparation 6
How to install the support Kit......ccoeeveeeerrerernrenne 7
Adjusting the vertical position of a

projected image (Lens shift) ........c........ 14
Adjusting the focus 15
Adjusting the tilt 18

Tilt adjustment during portrait projection.......19

=P
lFC&IT 3
AE 4
BAEJT5HD 4
[ & 5
% i 6
HR—=FFY OB T T oo 7
KREBERDMEDRAE (LAY T . 14
TA—H R 16
FIU MEE 18
A= —MEEROEETFE e 19

HE
g 3
=1 4
FEAERNEN 4
HE& Y 5
HEETE 6
MMLEZEEYS 7
FEERHEENEENE (BXBA) .. 14
VR 17
BEMRE 18
BTN R HRB B RIAEE oo 19

2

S




——

(English)
Introduction

This is the handling instructions of the support kit for the fixed focus lens NP44ML.

This document describes how to attach the support kit and how to adjust it.

For USA:

About the procedures for mounting the lens unit, please refer to the projector User’s Manual.
For other countries:

To mount the lens unit and the support kit, consult your dealer.

Supported projectors
PA1004UL-W/PA1004UL-B/PA804UL-W/PA804UL-B

|NOTE: lllustrations on this instructions may slightly differ from the actual products.

=4 BY.,] 1

AEE. BEERL Y X NPUML B R— b+ v FDOFHBAETY,
AETIE. YR— by O ERBOHEZFHBALTOET,
L>XaZw b EYR— by OB BRFEEICERBELTEEL,

®WHETAIT 72—
NP-PA1004UL-WJL/NP-PA1004UL-BJL/NP-PA804UL-WJL/NP-PAS04UL-BJL

[IE AEDA SR MNIEROMIELDREDEEHHYET,

TR

e ATEEER L NPAAML EEHHIRIER .
ZIKSUfénRHHﬁﬂﬂ“‘”ii;ﬁﬁﬁilﬂﬁi‘fﬁﬁﬁﬂ%
BRREGLBOOTR, BSRARZV AP FH.

k2 ke 208
NP-PA1004UL-W-+/NP-PA1004UL-B+/NP-PA804UL-W-+/NP-PA804UL-BJ+

[ - A R P RO TR AT 6 5 S0 = R A AN

S




——

/\ CAUTION

After installing the lens unit, be sure to secure it to the projector using the support kit. Fail-

ure to do so could cause the lens unit to fall, resulting in injury.
Power off the projector and unplug the power cord before installing the lens unit and the

support kit.

Things to prepare

« Phillips head screwdriver
For ceiling mount or portrait position, a mounting bracket with sufficient strength to support

the combined weight of the projector, the lens unit, and the support kit

MN\EE
- LYRAZy MERYMIF TSI, TRy MEESTLY R Dy METOY LY
S—FRIERLT TN, BELENE, LYX1Zy MSETLT HHORRES

L)Ea_o
LYXAZy hEYR— by bOBRIMFIE. TRV I72—DERZTY. BRI ST

ZAVEY IO SIRWRRETIT O TLIEE LY,

BEITSL0
- TIARSAN—
- RBRVEER-I—FCRETZHAEIE. TAYVIV2—KEEL XAy bEKUY

R—hFY FOEEIHDWASNSIIGITEE

NS
. REESETE, S ERAXEEGEEBRERREN L. BNRESHELBETTEE,

NMSEAEHE.
- ARERGELBTREEGZH, EXRAREYBEFRTRIEL.

RELENER

- L]

- HFREMZESAOLE, FEAGRBRENTHAVN. HXETHERECRES
SES S




Included items

@ Support bracket

(@ Screw (M4x10) 8 pcs
®) Screw (M4x20) 1 pc
@ Adapter

EibE

O P R—+&E

@ %Y (M4 X10) 84
® %Y (M4 x20) 1K
@ THTR—

&R

O ZEZH

@ 25T (M4X10) 84
@ 85T (M4X20) 1 4
@ &R




—o— I

Preparation

Return the projector lens position to the home position without the lens mounted.

For details on connecting the power cord and turning on/off, refer to the projector User’s Manual.

(@ Connect the power cord to the projector, and then press the (& (POWER) button to turn on
the power.

(@ Press and hold the ZOOM/L-CALIB button for 2 seconds or longer.

(® After the lens movement is finished, press and hold the SHIFT/HOME POSITION button for 2
seconds or longer.

@ After the lens movement is finished, wait for 10 seconds or more and then press the (& (POW-
ER) button twice to turn off the power to the projector.

(® Remove the power cord from the projector.

%@

L>ZX2Zy bERYMIFTOWEWRET, 70V 92— DL Y RMBER—LRY

YavItRLET,

BRI FOBFEEBRA/TICOVWT, #FLIETOY 7 2—DEUREAEZ CE

rEEL,

® 7OV I2—ICBRI—NEEHKRL. O R2 U ERLTERE ANS,

@ [ZOOM/L-CALIB] RZ > % 2 AL LY,

® L ADEELT#. [SHIFT/HOME POSITION] 7REZ > 7% 2 FHI HI8T,

@ LY XDOFEL TR 10 WU LEF>THS, ORZVZ 2L TTOY 72— DERE
1%,

G 7OV zv2—h5ERI—FERYANT,

EARKEIBER T ERZNELREVISRT E.
BREEBRFLMFRE / KAMEMRER, BSRAREIARF#®.

O WBRRLEEERTI, RERO (BF) EFEHERE.

@ $R1E ZOOM/L-CALIB % 2 Fhoha EK AT

® Bk BahEM/GE, $21E SHIFT/HOME POSITION # 2 #b4hE] <A,

@ EELBHEMRE, FF 10 DHEKEE, KER O (BIRF) ErRAKMAREIEIE.
® BERIFELMZZI LET.




How to install the support kit

1. Turn over the projector.

Lay down the projector cabinet upside down on a table with soft cloth laid. While doing this,
align the front of the projector with the end of the table.

/\ CAUTION

+ For moving the projector, make sure you have at least two people. Attempting to move the
projector alone could result in back pain or other injuries.

YR—FFv FORYFIFE

1. 70710 %—%KiEY,

ROSOVELELERVLADEIL, 7OV 2—EEHELTHMNCBEET, T

& TAYIYA-DREEEDKICEDETIREL,

IN\EE

- ERIE 2 ABLETITOTKIEE LY, TOYTY8—% 1 ATHE LFTIBE. FHDER
DERLEBTEDBYET.

I REZIEEN

1. B F .
BEREVEREEFERMHREFL. PUTILREN, BRENPERNSRFHRIEIT T

/N\itE
. BHEENN, EREESEACABTRE RELRBHEPNTELSHENER
S EAA S HE.

S




2. Fix the adapter to the lens unit.
As describing on the illustration, put the adapter on the lens unit whose protrusions meet with

the screw holes on the adapter and fasten them by 2 screws (M4x10).

|NOTE: Do not touch the glass on the lens unit. |

2. XAy M7 Ta—ERIF113,

TEATRA—HEHOBEEICL T RITBL YAy FDZERICES ESICBE XY (M4
X 10) 2ARTLODATET,

[EE EETIE. LY XDAHS AAEICHNGENTLEEL, |

2. {FIERC AR ElE ER LB ITT.

WEMT, BERFNAERLET L, ERHBIEEEE ERMBALENE, FRRNEE
(M4X10) FELE 2o

U BRI SRS E RO IR |




3. Adjust the tilt of the lens unit.

Adjust the focus balance at the periphery of the projected image.
For table use: Move the tilt lever to the “+” position.
For ceiling use: Move the tilt lever to the “-" position.
For other uses: Move the tilt lever to the center (around “T” letter).

3. L=y FDFIVIMREETTS

REBEDELEDDT 4+ —HAINT VA ZRHELET,
T—JINIRET 2HBE  FILELN—Z+DMUEICEDEET,
XBYTHRETZHE  FILELN—Z-—DUBICEDEET,
FEREUANTERBET 215G - FIVLELN—ZHR (TOXFHE) ILEHEET,

3. FER LB T HIHE.
FERZEGIMNERRETE.
MFAEKLER BT HEE " E.
MFAERERLER  BEMFBE"-" LB
X FEA AR - BEMFESHESRO (T ZEEAR).




4. Mount the lens unit on the projector and adjust the lens position

(@ According to the instructions on the projector manual, mount the lens unit onto the projec-
tor.

(@ Connect the power cord to the projector and power it on.

® Press and hold the SHIFT/HOME POSITION button for 2 seconds or longer to move the lens to
the home position for NP44ML.

@ When the lens movement is finished, wait 10 seconds or longer before turning off the power
and removing the power cord.

4. 7O OR—ICL XAy FERYHIIT, LXDLEEEDPES.

O 7OV E—DREHRBPEI R OTC TOVTIE—ILYRIy MERYLITS,

@ 70V 2—ICERI—FEERLT EREANS,

® [SHIFT/HOME POSITION] 782 > % 2 #L B3R LT, L XD iIiE% NP44ML DR—LRTY Y3
VNCFEENT B,

@ LY XDEEE TR 10 U EZRBLTHSEREZYY, ERI—FEERUAT,

4. GRS ETTRREERTH L, HAEHFELGE

@ RIBE Y BPFM AR, BEkBTRERREN L.

@ BHRBLEZEZEREINHFBER.

® 1&{E SHIFT/HOME POSITION # 2 #4hesi EKETE], DB ELBENZE NPAAML IIHIIA AL E
@ BABoERG, 510 W EKEE. ElbZE, KARENFEEREL.

10




5. Adjust the support bracket.
(@ Loosen the wing nut on the support bracket and pull out the L-shaped metal fitting.
(@ Rotate the dial to align its hole with its top position.

6. Fix the support bracket to the projector.
As shown on the illustration, place the support bracket and use four screws (M4x10) to tighten
them.

5 YFR—Fr£BERETS.
@ PR-FEIHVTWBES Y bS8, LFRDEE%S|IEHT.
@ 21 vILZEILT HOZLAICEDES,

6. 70210 2—IcYR—F2BEEZRYITIFS,
BR—PEBZRDLSICEE. XY (M4 X 10) 4 K TLOHMHFET,

5 AEXEZER.
O MR ERRREE, FiY L BEREER .
@ rErER B EHFL S TARM B XY 5o

6. X IEZREIEEIRFH L.
WERT, MEXEXGAFERINNRET (M4X10) FHITE.

S |



7. Connect the support bracket to the adapter.

Move the L-shaped metal fitting of the support bracket to meet with the adapter, and insert the
adapter pin into the hole of dial.

When doing this, make sure that the L-shaped metal fitting and the adapter are so securely fixed
that the adapter pin can be seen through the hole of dial.

7. YR—FRBLETRT2—E#HET B,

HR— P EBDLFPROEBEZHN LT L TE—ICH T, THET2—DEYZLA1Y)IL
DREOIEANE S,

ZDEE LFROSBET AT Z—HRRIFNT. A VILOBONSEVHARZT
WB T EERRBLTI T,

7. B REEEBA .
BHZEXREN L ReREY, FRSERFENE, FRERARIHENLENTLF.
EPITILIRERY, BHARERE L KEBRG5ERR, AMAETkaf 5B RE .




8. Tighten a screw to fix the support bracket and the adapter.
(@ Tighten two screws (M4x10) to fix the L-shaped metal fitting and the adapter.
(@ Tighten the wing nut.

This completes mounting the support kit.
After installing the projector, connect the power cord and video cables, and then turn on the
projector. Finally, adjust various items.

8. YFE—FREETZTE—EXITLOMIS,
O %Y (M4 X 10) 2A8ZEFEOCLFEDEBEETLT2—% LTS,
@ BT Fe LTS,

IhT, ¥ R—FFy FORYHIHBEDY ELL.
7AY1 72— RELTCERI— PG —J)Ibz#ERL. 7OV 17 2-DERE
AMTREDREZITOTLILEL,

8. ITEMEETLL B E ST R FIiE AL A8
@ ITEMMEET (M4X10) LUEERE L X & RELHANERL RS
@ IR,

EHRTRT ZEEFNRE.

ZEREBEFY G, ERRRAMUMBL, KT

1
WG
R
=
Wil
i
b
i
R
=
m




Wing nut Screw
g+ b Y
TR AR 1247

Adjusting the vertical position of a projected image (Lens shift)
To shift the lens, loosen the wing nut and screws that were fastened in step 8 for the support kit
installation procedure.
To adjust the horizontal direction, loosen the wing nut
To adjust the vertical direction, loosen the two screws
For details on lens shift operations, refer to the projector User’s Manual.
* Tilt adjustment (— page 18) may be required when the vertical direction is adjusted.

After adjusting, tighten the loosened wing nut and two screws.

REEHORMEDHARE (LYZXYTH)

LYZX27 b R—bFy FRUMITFIED 8 TLOHMISTiRF v PRI 2028
FRETITVWE Y,

KFAFAZHAET B5E BTy M 228 FT

BEHOERAETZHE RV 282D 2HFT
LY X7 FOBIEICOWTIE, 7OV 172 —DOEIREGAEZ B ZEL,
XEEHMZRELIHEIE. FIVLMEE (518 X—Y) BMREICEZHEDHNET,

AEHNRDOfD. WEOHIEES Y bPXRY 2K%Z LOMITET,

AR HEEHERME (RLBA)

EBHEL, FRIEIEEHRREFNIR 8 Pir RN EGEST.
ZRBKFAE, FRNRER
HRREETRE, FRIHFHDERET

BXREABARERIEE, BRI BRFH.

* HFEEEAEN, AREFERITIMREE (- %1810,

WEE, FERZMEZEEImAEET.
14

S |




—o— I

(English)
Adjusting the focus

1.

Please read the precautions in the projector user’s manual carefully before using the optional
lens NP44ML.
Press the FOCUS button.
The [LENS FOCUS] control screen will be displayed
on.

LENS FOCUS

CENTER (]
PERIPHERY

Press 4P buttons to adjust focus of screen center.

*  [PERIPHERY] LENS FOCUS is not available for this
lens unit.

Press the ZOOM/L-CALIB. button on the cabinet.

The [LENS ZOOM] control screen will be displayed
on.
* In another way, press the ZOOM button on the
remote control.
LENS ZOOM

Press €P> buttons to align the focus of screen pe-

ripheral area.

15




——

(B&EE
T —HARAE

® 1723V UV ANPAAML ZERAT 2R1IC, TOY 175 —DEIREIAEDEEERIE
ZE BT <TEE L,

1. FOCUS R% V%Z#T,
VYR T 4 —HARBEENRRSNET T,
4/ PRYVERUC, BEFLDTF—HR
ZEnEET,
- [BhA] DT —NAGERFEN T,

[ on gy stanoe LYRZA—AR
I

B
[

=]
]
[
n»lg

0

B USER
&)

=1k

(5
=
"R
~

=
N o

2. ZOOM/L-CALIB. R& V%ZELHT,
A—LABEENFRRSNE T,
- UEIVTHRIET 255(& ZOOM MY > 7%
BULEY,

4/ PRI VB U CEEBMID D 4+ —H A%
anEEd,




| —o— I

(3X)

AR
- BFAREHR VAR FRHREEEIGE B ARERk NP44ML,

1. ¥R FOCUS 324l.
BERELRE I EHE®.

2. =M% L8 ZOOM/L-CALIB. 32§l
BERIELTEEHE®E.
* EEIRERSE FR ZooM 24,




Adjusting the tilt

(@ Loosen the two screws that were tightened in step 8 for the support kit installation pro-
cedure.

(@ Use your hand or a Phillips head screw driver to rotate the dial of the support bracket, and
then adjust the vertical focus balance of the projected image.

® Tighten the two screws that were loosened in step (D).

@ Adjust the focus again and check if you have obtained the best focus balance in the vertical
direction.

FIV F4HIE

@ PR—bFY FERYRHFFIED 8 TLOHMF TR 2XK%Z D252,

@ FERRBTFARSAN-ZFEOTC FR-—+2BEDOL(VILZEL. REEEBLTDT4—
HADING > R T B,

@ D TWBHRY 24K% LTS,

@ BE7+—HAREBZTV. REEELTDT4—HADNSVADNERICEOITWSIE
%=HERRT Bo

AR E

O MEAAEZEEHRREFNLR 8 PIFEHREET.

@ AFH+FRELTEEIEXIRNER, ARRERZEGHEERETE.
Q@ ITRESR O FRIFHAE T EET.

@ BRAEEER, HNERBCREEENOINREERTE.

18




—o— I

Screw insertion port

VAN
BEETHR A B
| ﬁ@
[e) . [6) -
o ® o ®
& " |[@
:
Wing nut
By b
W AR B

Tilt adjustment during portrait projection

If the lens unit tilts downward when portrait orientation is used with the projector installed ver-

tically, follow the procedure below to adjust the tilt.

* The stand that supports the projector is omitted in the drawings for clarity.

(@ Loosen the wing nut that were tightened in step 8 for the support kit installation procedure.

@ Insert the screw (M4x20) through the screw insertion port on the upper side of the support
bracket.

®) Turn the screw to adjust the tilt of the lens unit.

@ Tighten the wing nut that were loosened in step (D.

F—FL— MIEROEERE

FEZHUTKE L TR—FL—MREZITOTCVWAHEEIC. LY XAy MHTFNMES
BlI. UTOFIETEEZRELET,

KT T TEEZZABDARY FEEBRLILAZAMILTVET,

@O HR—brFy NERUMIFFIED 8 TLOMIT kT 2385,

@Y R—rEEDOLRIDOXIBAOLSEY (M4 X 20) ZHAT B,

®xVEELT LYX1Zy bOIEEERET S,

@ OTBHIEETY b2 LIS,

HATA IR R R R

HEEELEBIINOBERTERMETTER, NRELBITE TR, WRIEU TR FEHEER.
* TFERFNOZ REERPE2E, RGEMRIR.

O MEAZEERRREFNLR 8 iRk,

@ 5257 (M4X20) HINSHEZZR EMEGIRSTIRA RO,

@ meFEIRETRUR S L B ITRY A

@ IEESR O PRFRERIE .

19

S |




© NEC Display Solutions, Ltd. 2020
Printed in China 7N8R0562

| S




